S ESiRizS R30I T | CV L
HERC 1 ESi N PR WS g EE] 0
X i 5 4 3 2 1 [mmz] FE 5 4 3 2 1 [z ¥
[ ST RN FIS I COET 2 | 27 1 5 0 0 0 [4.67 0 0 0 0 0 [EEEE
2. BT 0 V=2 AR OEE ST, SCFITDHDRTNTT 27 1 4 0 1 0 4.61 0 0 0 0 0 0 | FEhtizey
3. FREDRIIEDODDRT VD, 21 4 6 0 2 0 [4.27 0 0 0 0 0 0 [Fminl] M7 f33
4. B EDEA A TLEeI CI 2, 19 | 4 9 1 0 0 424 0 0 0 0 0 0 [Tkt
5. Jﬂnﬂfvzr R KBRS @) T 20, | 27 | 3 3 0 0 0 [473 ] 0 0 0 0 0 0
_Rh R VET 2, | 24 | 3 5 0 1 0 [448 | 0 0 0 0 0 0
%"%@ﬁ”‘ﬂ FEERE T%iu‘% 24 | 2 6 0 1 0 [445( 0 0 0 0 0 0 3 —— R R
8 N2 e Iy AN UL S O 25 1 6 0 1 0 [448 1 o0 0 0 0 0 e R —e— IR
I, ESIR TR30FEE T | 1CV fH1
HERA T g Rkl a0 | ERn e EEERN
4 il 5 4 3 2 RS EES] 4 3 2 1 [HEp] P
1. Vo A po (RN TSIV ET 2% |0 0 0 0 0 0 [sohnL 36 | 0 4 0 0 0 [ 4.80
2. BIRCT 0P/ SO TE T, TFEDMIRTVTTD, 0 0 0 0 0 0 [zwzl] 35 2 2 0 1 0 |[4.75
3. HEDREDOADRT VD, 0 0 0 0 0 0 [ZHzL| 30 4 4 0 2 0 [4.50 | 7 [GE]
1. FEEDOEL B ITmE) I A 0 0 0 0 0 0 [zl 34 1 3 1 1 0 [4.65
5. a7 B A —F - kR A G BB T3 % | 0 0 0 0 0 (I EEEN RS 2 2 0 1 0 [4.75 g
6. T O I HIBTL C L Ve CINE T 2, 0 0 0 0 0 0 [=Hizl 36 1 1 0 2 0 |4.73 i
T EDONR IR CE LI 0 0 0 0 0 0 [ggmnsL] 32 2 5 0 1 0 |4.60 = —o— BRI R
8. ORI o DI E LT, 0 0 0 0 0 0 [sazL] 38 0 2 0 0 0_[4.90 fs  —e—#MER
- n T FE TS - BR30 SR | 1CV 1
LAAIERE TR i I R e e A 5
4 il 5 4 3 2 RS EES] 4 3 2 1 [HEp] P
1. Vo Ao (RN TSIV ET A% | 256 [ 0 8 0 0 0 [4.52 | 27 0 7 0 5 0 [4.13
2. BT 0 = FFROEET, TFEDIORTOTT D, 18 2 11 1 1 0 4.06 22 2 8 1 6 0 3.85
3. DRI T VD, 11 4 11 0 7 0 [3.36 | 20 1 9 2 7 0 [3.64 | rir(e Y]
1. FEEDEL E A Tm) I A 21 1 9 1 1 0 [4.21 | 23 2 11 0 3 0 [4.08
5. Al AL AR —b - KR A 1Ll B) C3 A% | 20 | 3 9 0 1 0 [4.24 | 25 1 9 0 4 0 [4.10
6. RPN U C LV C B ES 7% | 18 | 2 10 1 2 0 [4.00 [ 22 1 11 0 5 0 [3.90
1 REDONRI I CEELTD, 5] 0 3] 2 3 0 [3.67 | 18 3 0] 3 5 0 [3.67 v Chimse
8. COT L Lo W IRDFLA ELTAY 26 | 0 | 7 [ o1 o] o J458] 291 3 1 4 1 2 0 [444 s —o—#MER
T, ESRiEI 0L T | ICV
P77 Jo g Rl TR 5 [ R e EREL O
X il 5 4 3 2 1 |sEwrg] SER ) 5 4 3 2 1 [fmmz| ¥
1. Vo AR > (R FMEAV O ET 2 | 25 1 7 0 0 0 [4.55 | 0 0 0 0 0 EEE
2. BT 0V =/ A FROEX 5, LTI T VT Dy, 16 4 13 0 0 0 14.09 0 0 0 0 0 (I ES
3. HEDRAIEDDIRT VD, 7 4 15 1 6 0 [315] 0 0 0 0 0 [ ES N ) 3
1 FEOEL A TT@ME T o, 19 [ 2 11 1 0 0 [418 © 0 0 0 0 [ EE
5. Al i)y L 7R — R KR R v B C 9 A% |21 1 9 2 0 0 [424 0 0 0 0 0 (e
6 RAMICHB L CEV i B eV ET 2% | 17 | 2 3] 0 1 0 [4.03 ] 0 0 0 0 0 [ EEEY " esa
T REODNRIIPE CEELTA 13 3 14 0 3 0 [3.70 0 0 0 0 0 0 [FHinsL ¥ —o— HiHAE R
8. ZOFFECL DRV EL T2 25 | 3 5 0 0 0 [461 1 0 0 0 0 0 [ EST ps  —e—HMER
B SR 304 SRR | _ ICV N
e ESRIIE Gk ET EEE MES A T BIE] 0
X il 5 4 3 2 1 |sEerg] SER ) 5 4 3 2 1 [fmmz| ¥
1. Vo AR R TSIV ET 2. | 28 1 4 0 0 0 [473 | 0 0 0 0 0 N EEE
2. LT 0Y= s ARRO RS 7, LEEbmoTuTeTa, | 28 1 4 0 0 0 1473 0 0 0 0 0 0 |HitL]  py ]
3. HEDORAIEDDIRT VD, 24 3 6 0 0 0 [455] 0 0 0 0 0 0 [zwn] 5K 3
1 FEOEL A TT@mE T o, 29 | 2 2 0 0 0 [482 | 0 0 0 0 0 (N EEE )
AnHrlhjﬂi‘\/‘Jw——I* AR S m e Cd 2 | 27 | 2 4 0 0 0 [470 | 0 0 0 0 0 (N !
6. O PN HIBTL CRV el ET 2% | 26 | 2 5 0 0 0 [464 0 0 0 0 0 (N EEE : A
7. R DN CEELT D, 26 4 3 0 0 0 (470 0 0 0 0 0 [ :%ﬁ,ﬁﬁ.ﬁ%
8. OB RIS DIRVFHA EL T, 271 | 2 4 0 0 0 [470 | o0 0 0 0 0 (e R —e—®MER
e - YR TR0 T I CV "
ERAEERERBIE T TR Rkl S R e i A 5 m
54 il 5 4 3 2 EREEEEE] 4 3 2 L[] P
1, /wwz«uoﬂxfz‘;efﬁ ATVEI v, | 27 1 5 0 0 0 [4.67 |[ 36 | 0 3 0 0 0 4.85
2. BT a2 2 FRROEE);, TIFOIRT VT, 24 3 6 0 0 0 4.55 33 2 4 0 0 0 4.74
3. R DORAIEDDIRT VD, 26 2 5 0 0 0 [4.64 ] 33 3 3 0 0 0 [4.77 87 [GE]
1. B DS LA Tmb) 3 A 26 | 3 4 0 0 0 [4.67 | 34 | 3 2 0 0 0 [4.82
AnHrlhjﬂi‘\/‘Jw——I* AR S m e CJ 2 | 25 | 2 6 0 0 0 [458 | 36 | 2 1 0 0 0 [4.90
6. ORI CRVEEE LBV ET Ay, | 28 [ 2 [ 3 | 0 [ 0 | 0 [476 | 34 [ 2 2 0 1 0 [4.74 Py
7. R ONBII L CEELT D, 24 | 4 5 0 0 0 [4.58 | 31 4 3 0 1 0 [4.64 iR
8. DB Lo W IROFLA £ LT 29 | 1 3 0 0 0 | 479 | 38 1 0 0 0 0 [4.97 3
P TR TR0 L 2 I CV
7L 1 TR i S i BRE] 7
54 il 5 4 3 2 EREEEEE] 4 3 2 L[] F
1. > AIh oﬁx%)i;ebﬁ ncvEsa, | 3 1 0 0 0 0 [4.75 | 5 0 0 0 2 0 |3.86
7Yy ZFROEEST, LFEDHRTNT T, 2 1 1 0 0 0 4.25 5 0 1 0 1 0 4.14
3. BEOMIITDID0T 0D, 2 1 1 0 0 0 [4.25 4 1 1 0 1 0 [4.00
1 EDOEL A TEmE T o, 2 2 0 0 0 0 [450 | 5 0 1 0 1 0 [4.14
5. ATl )7 EL AR — - kBRI R S 1B B) C 3 2% | 2 1 1 0 0 0 [425| 6 0 0 0 1 0 [4.43
5 R B FIBT L C RV T e eV ET 7% | 3 1 0 0 0 0 [475| 5 0 1 0 1 0 [4.14
[ REONE IR CE LD 3 1 0 0 0 0 [475 | 5 1 0 0 1 0 [4.29
8. ZOFEEICL D WBOMLAEL 20 3 1 0 0 0 0 14.75 6 0 0 0 1 0 [4.43




